Ab & & M A

SN BEE
o 3

MR YMHNEX S (UBTBIU/YLHT)

o9l AMBYEE 2 (Sl &2)
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 ﬁgi B2
saEg 728,110 682,374 45,736
UMBHIE 2 (UVDTYY/LBH) 200,560 203,804 A3,244
ULBHTE 2 200, 560 203,804 A3,244

seluy 49 2 254 X 76,260 76,260 0
301 YPBAS 76,260 76,260 0
05 S-2 BEESEAS 76,260 76,260 0

K] 72,160
24y 200, 0002 *228 122 52,800
— 4012 200,000 *22 *200% 8,800
—glol g s 20,0002 #2224 *25] 122 10,560
OPra 45 50, 0002 *828 4,100

soiay 2y 124,300 127,544 A3,244
201 Lty 70,300 69,224 1,076
01 At 22l 24,950 23,884 1,066

o8| 14,250,0002! 14,250
o2gag 5,600,0002! 5,600
o3zl 5,100,00024 5,100
2 2Z2IY| 45,350 45,340 10
OZZRILHA 23,850,000 23,850
oozl 500, 0002 500
CNEETES 2,000,002 2,000
Oxt gttt 19,000, 00024 19,000
202 01t 54,000 58,320 A4,320
EET 54,000 58,320 A4,320
CEETCT 54,000,002 54,000
ARSE K (FELXAHL/XALTAI) 500,000 450,000 50,000
ZoIBONA BE 500,000 450,000 50,000

AZSHBSH Abel 50,000 50,000 0
401 Al&HIL 20| 50,000 50,000 0
01 Al&H] 49,460 49,460 0

OYZEE WS Al 49,460,002 49,460
03 Al& S CH| 540 540 0
OYZES M4 AP 50,000,000 *1.08/100 540
P2 FUEY AL 300,000 300,000 0
401 AlZHIL 2O 300,000 300,000 0
01 Al&H] 296, 760 296,868 A108
O (BONHE & L o1 F|
24,730,0002! 24,730




H(2ELRNGNL/RNALEAl)
QEHOAE =F

_ _ _ N E
M- B8 S2(3H) - HRAY - BaS Arol G =2
O3Y Z0la =4 Hi== &EHl 19,784,000& 19,784
OA&AMOtE =AY &4 & otd FH
29,676,000& 29,676
Oge(da) otz &l 24,730,000& 24,730
ORI E AL HE= 49,460,000& 49,460
OsEZHeEds At 29,676,000& 29,676
Oa7l st 59,352,000& 59,352
OsHEZZ(s2,21%) FHl 59,352,000& 59,352
03 AIZ20i4l 3,240 3,132 108
OAg(=ohH&H Ax & ot Hil
25,000,000 *1.08/100 270
O3 F0lA = ti= &4
20,000,000 *1.08/100 216
OAANDIE ZXE Z& % o2 FH)
0,000,000& =1.08/100 324
Odg(ga) oz Fy|
25,000,000 *1.08/100 270
OMoiIZEAI4 JHE+ 50,000,000 *1.08/100 540
O=sEZ M43 AFE 30,000,000 «1.08/100 324
OATRZ Yssadly Fy|
60,000,000 =1.08/100 648
OsHEEZ(s2.2%) FHl
60,000,000 *1.08/100 648
2l AL 150,000 100,000 50,000
401 Al&HI YL SO 150,000 100,000 50,000
01 Al&H| 148,380 98,920 49,460
O S LAY 148,380, 000& 148,380
03 AIZ=20iHl 1,620 1,080 540
OIS HAS 150,000,000% *1.08/100 1,620
HEY 2L ZHI(EES)(IIEH/IIE 27,550 28,570 A 1,020
=23 10,800 10,800 0
A2l 10,800 10,800 0
203 HRF&AH| 10,800 10,800 0
01 JI22FHRF8| 6,600 6,600 0
os% 6,600, 000& 6,600
04 BEASSIHRFEHI 4,200 4,200 0
ORNMZBEYEF=AI 4,200,000& 4,200
2Ztl 16,750 17,770 21,020
Jl=3| 16,750 17,770 21,020
201 Let2g| 13,750 14,770 A 1,020
01 AtE22lH] 13,750 14,770 21,020
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SN 2T
BHE: YMUNIN SY(YUTDUT/ANHT)

ool AMBHER 2 (el a2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
SHH 664,830 616,572 48,258
UM EE SH (Y22 H /U A) 144,090 145,322 N 1,232
UNHH XA 2H 144,090 145,322 N 1,232

SclgtdE =2 2 54 A 67,350 67,350 0
301 et A= 67,350 67,350 0

05 -2l -&sEs8aa3 67,350 67,350 0
OO0l & 65,600
g4 200,000& x20H x12& 48,000
—&02 200, 000& x202 *200% 8,000
—3oE ALY 20,000 x20H x23| x12& 9,600
Ostd & 50,000& x35H 1,750

SHIAN 29 76,740 77,972 N1,232
201 B3| 46,500 45,572 928
01 AtR22teldl 21,600 18,672 2,928

Odet=2H| 11,600,000 11,600
oggsg 5,600,000 5,600
OZ &l 4,400,000 4,400
02 ss2494l 24,900 26,900 A 2,000
OZ2Z22SYLHA 12,300, 000& 12,300
OXteHey| 12,600,000 12,600
202 (4 I 30,240 32,400 N2,160
02 EHOAHI 30,240 32,400 A2,160
O3 MY 30,240,000& 30,240
ARD XYWL (ZELXGNLY /XL Al 500,000 450,000 50,000
FOIEHOIANAL &5 500,000 450,000 50,000

AXZ2MNE S AIE 50,000 50,000 0
401 AIEHIZ 20| 50,000 50,000 0
01 Al&HI 49,460 49,460 0

OYXE MES ALY 49,460,000 49,460
03 AA&20HYI 540 540 0
OYXE MNESE A 50,000,0002 1.08/100 540

ARE FOU=A ALY 300,000 300,000 0
401 AlEHILL20H] 300,000 300,000 0
01 Al&H| 296,760 296,760 0

O==2 ¥2s Na3HI 24,730,000 24,730
O1N4 NAEHYI 24,730,000 24,730
OsHOIEF s2&H4| 24,730,000 24,730
OHBAEI 28 T2 &1 24,730,000 24,730




SN =ate
AR NGNS (FELXSHL/NHLEAI)
Ol FOIHOIAL =HE 9 He
M- ®=Z . Che (5 HEAS - HA2 A} OH HdE T Sk
OMHAEANE HE = 49,460,000 49,460
O==ZdNE-3s Atg 29,676,000& 29,676
OAL1E Z=sMAD|IBE FH| 59,352,000& 59,352
OsHEZZ(s2,2%) 4l 59,352,000 59,352
03 AI&=2Ul 3,240 3,240 0
Oz= d2s
25,000,000 *1.08/100 270
O1n& NEEYI 25,000,000& *1.08/100 270
O=3Hiot=+ 25,000,000& *1.08/100 270
O&dBIAZX T2 &X
25,000,000& *1.08/100 270
OTHol 2 & Al 50,000,000& *1.08/100 540
O=s&ZH 30,000,000& x1.08/100 324
o212 g eShl
60,000,000& *1.08/100 648
OsHEE2(=2,2%) &l
60,000,000 *1.08/100 648
Ol U ALY 150,000 100,000 50,000
401 AEHIZ 2] 150,000 100,000 50,000
01 Al&HI 148,380 98,920 49,460
O=01gy 148,380,000& 148,380
03 Al =20HYI 1,620 1,080 540
Oo=ogY 150,000,000& *1.08/100 1,620
HYSAHHI(SAH)(JIEHIIE 20,740 21,250 A510
ol 2HH| 9,600 9,600 0
ol 2| 9,600 9,600 0
203 R F&d| 9,600 9,600 0
01 JI22g9Y8R2F=&| 6,600 6,600 0
oH& 6,600,000& 6,600
04 EM2ILRF=EHI 3,000 3,000 0
ORNSEIRFLH| 3,000,000 3,000
=24l 11,140 11,650 A510
Jle&l 11,140 11,650 A510
201 et H| 8,140 8,650 A510
01 AtR22ldl 8,140 8,650 A510
(@)=l = 8,140,000& 8,140
202 044l 3,000 3,000 0
01 =2WAHI 3,000 3,000 0
Ol 3,000,000& 3,000




S FAH
HH: AMBNIN S (UUDTHY/LUHE)
ool AMBHER 2 ECR-ED
SH-EH . O3 - MBAY - BAS 0l aF ol Soe HRZ2
S AHH 665, 940 612,270 53,670
UM EE SH (Y22 H /U A) 144,690 141,530 3,160
UNHH XA 2H 144,690 141,530 3,160
SclgtdE =2 2 54 A 71,230 71,230 0
301 et A= 71,230 71,230 0
05 -2l -&sEs8aa3 71,230 71,230 0
OO0l & 68,880
—Jl2s< 200,000& x21H x12& 50,400
—&02 200, 000& *21™ *200% 8,400
—3oE ALY 20,0003 x21H 23| 12& 10,080
Ostd & 50,000& *x47H 2,350
SHIAN 29 73,460 70,300 3,160
201 B3| 41,060 40,060 1,000
01 AtR22teldl 18,720 18,220 500
Odet=2H| 8,420,000& 8,420
oggsg 5,600,000 5,600
OZ &l 4,700,000 4,700
02 ss2494l 22,340 21,840 500
OBZ222YLHA 11,740,000 11,740
O ZH| 1,000,000& 1,000
OAl& &HlI KX Bl 2,400,000& 2,400
OXbe eyl 7,200,000 7,200
202 044l 32,400 30,240 2,160
02 XA b 32,400 30,240 2,160
O MY 32,400,000 32,400
AR XNENL(ZELXINL /XL AL 500,000 450,000 50,000
OIHOIAE &= 500,000 450,000 50,000
AXZME S AFE 50,000 50,000 0
401 AlEHIZE20UHI 50,000 50,000 0
01 Al&H| 49,460 49,460 0
O9xXE MES= ALY 49,460,000 49,460
03 Al =20HbI 540 540 0
OYXE MELE ALY 50,000,000 %1.08/100 540
A2 FO=3 At 300,000 300,000 0
401 AIEHIZ 20| 300,000 300,000 0
01 Al&H| 296,760 296,760 0
ou=ig sz % 19,784,000& 19,784
Oo&E/OIE s2 ¥ =2 &4l 19,784,000 19,784




SN

(=]
e
HE: A7
X0
=

Chel: FDIEHOIAIL &5 (&9 HM
B . M. CHe (5 SALO] . THA 2 Al OH HEE =2}
OJetets s22 % 19,784,000& 19,784
Octd &8 &Y=z &l 19,784,000& 19,784
Ot dgs =2 EHl 19,784,000& 19,784
OTMHFEANE HE= 49,460,000 49,460
O=EZH&&s Atd 29,676,000& 29,676
O4LmE F=MAD|BE | 59,352,000 59,352
OsHEEZ(s2,2%) &bl 59,352,000& 59,352
03 Al 20HY| 3,240 3,240 0
OoL=30ts s22% 20,000,000 *1.08/100 216
OZ4aite s2 ¢ =2 &l
20,000,000 *1.08/100 216
Ot s =22 20,000,000 *1.08/100 216
ooty =22 A=z Jul
20,000,000 *1.08/100 216
Ot Zgs =2 FH|
20,000,000& *1.08/100 216
OXoiIE A JE= 50,000,000&*1.08/100 540
O==ZH&43 A 30,000,000 *1.08/100 324
Oantl IS=MAD|B |
60,000,000 *1.08/100 648
OsHEzz(=s2,21%) &l
60,000,000 *1.08/100 648
F S UAY 150,000 100,000 50,000
401 AIEHIZ 2 150,000 100,000 50,000
01 Al&HI 148,380 98,920 49,460
O EUAS 148,380, 000& 148,380
03 A&yl 1,620 1,080 540
OF0IgYALS 150,000,000 *1.08/100 1,620
HH2HHUI(RAH)(IIEHIIE 21,250 20,740 510
ol 2HH| 9,600 9,600 0
olE 2| 9,600 9,600 0
203 HERF&| 9,600 9,600 0
01 J|22IHRF&HI 6,600 6,600 0
OHE 6,600,000& 6,600
04 ENBILSF=EH| 3,000 3,000 0
ORNSIEIRFAH 3,000,000 3,000
Jl2& | 11,650 11,140 510
Jl2Z | 11,650 11,140 510
201 LBt 8,650 8,140 510
01 AtSR2t2ldl 8,650 8,140 510
Oger=24| 8,650,000 8,650
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2AM: JIotH
HH: AMUHEE SY(LUDTIHE )

ool AMBHTX 2Y ECR-ED
SA-EH O (BH) - HBAY - B2 gggf; HRS2
JHoFH 712,660 664,330 48,330
UM EE SH (Y22 H /U A) 188, 170 189,330 A 1,160
UNHH XA 2H 188, 170 189,330 A 1,160

SclgtdE =2 2 54 A 88,730 88,730 0
301 et A= 88,730 88,730 0
05 -2l -&sEs8aa3 88,730 88,730 0

OO0l & 85,280
—Jl2s< 200,000& x26H x12& 62,400
—&02 200, 000& 262 *200% 10,400
—3oE ALY 20,000 x26H x23| x12& 12,480
Ostd & 50,000& x69H 3,450
SHy 29 99,440 100,600 A 1,160
201 B3| 58,400 57,400 1,000
01 AtR22teldl 22,120 20,620 1,500
Odet=2H| 11,220,000 11,220
oggsg 5,600,000 5,600
OZ &l 5,300,000& 5,300

02 ss2494l 36,280 36,780 A500
OBZ222YLHA 15,580, 000& 15,580
OdzHl 700,000& 700
OAlI & &H| 2 Xl HI 2,000,000& 2,000
OXbe eyl 18,000,000 18,000

202 044l 41,040 43,200 AN2,160

02 XA b 41,040 43,200 N2,160
O MY 41,040,000& 41,040

AR XNENE(ZELX IS /XY 500,000 450,000 50,000

OIHOIAE &= 500,000 450,000 50,000

AXZME S AFE 50,000 50,000 0
401 AlEHIZE20UHI 50,000 50,000 0
01 Al&H| 49,460 49,460 0

O9xXE MES= ALY 49,460,000 49,460
03 Al =20HbI 540 540 0
OYXE MELE ALY 50,000,000 %1.08/100 540
A2 FO=3 At 300,000 300,000 0
401 AIEHIZ 20| 300,000 300,000 0
01 Al&H| 296,760 297,084 N324
ONEE S22 H 29,676,000 29,676
ours szx ¥ 29,676,000 29,676




SA IR0
U ARR NN (FELNANL/NALEAI)

Sl FUBOIAIL 25 (el &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Ol &+ 9K Ofl At ot Hws2
OAT 52048 2 EF  39,568,0009 39,568
OMBHABAIL N4 49,460, 00021 49,460
Os=ZMBSs AY 29,676, 0002 29,676
OARD YsHAIIB FH| 59,352, 0002 59,352
OS0ZE2(52.2/S) FHl  59,352,0008 59,352
03 Al&=CHYl 3,240 2,916 304
ONEE =22 30,000, 0002 *1.08/100 324
OUrsE =22 30,000, 0002 *1.08/100 324
OBMIR 52 L EX
40,000, 00021 *1.08/ 100 432
OTHBHPIBAIL HHE4 50,000,000 1.08/100 540
OsZZRESS AY 30,000,008 *1.08/100 324
OARD YSHAIIB FH|
60,000, 0002 *1.08/100 648
OS0EE2(52.2/%) F|
60,000,002 *1.08/100 648
FOIHAY 150,000 100,000 50,000
401 Al&HIL 20| 150,000 100,000 50,000
01 Al&H] 148,380 98,920 49,460
OF LY ALY 148,380,0002 148,380
03 Al& S CH| 1,620 1,080 540
OF S YA 150,000,000 *1.08/100 1,620
R 22 2| (JH0FR) (JIEH/JIE}) 24,490 25,000 A510
TR 10,800 0,800 0
ol 2| 10,800 10,800 0
203 YREZY| 10,800 10,800 0
01 IS YAR =AY 6,600 6,600 0
oz 6,600,0002! 6,600
04 ENRYAREAY| 4,200 4,200 0
ORN2YYLETY) 4,200,0002! 4,200
=y 13,690 14,200 A510
=3y 13,690 14,200 A510
201 Yer2 Y| 10,690 11,200 A510
01 AR eIl 10,690 1,200 A510
ogersg| 10,690, 0002 10,690
202 01t 3,000 3,000 0
01 =2Uloibl 3,000 3,000 0
SETT 3,000,0002! 3,000
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EA: OI2H
HE: YMBWIN SY(YUTDHT/ABHT)

ool AMBHER 2 (el a2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
o™ 675,770 624,770 51,000
UM EE SH (Y22 H /U A) 165,030 154,030 1,000
UNHH XA 2H 155,030 154,030 1,000

SclgtdE =2 2 54 A 80,970 80,970 0
301 et A= 80,970 80,970 0

05 -2l -&sEs8aa3 80,970 80,970 0
OO0l & 78,720
g4 200,000& x24H 124 57,600
—&02 200, 000& *x24 2 *200% 9,600
—3oE ALY 20,000 x24H x23| x12& 11,520
Ostd & 50,000& *x45H 2,250
SHIAN 29 74,060 73,060 1,000
201 B3| 43,820 42,820 1,000
01 AtR22teldl 24,620 20,320
Odet=2H| 14,120,000 14,120
oggsg 5,600,000 5,600
OZ &l 4,900,000 4,900

02 ss2494l 19,200 22,500
OZ2Z22SYLHA 11,200, 000& 11,200
OAI & &HI KX 8] 2,000,000& 2,000
OXteHey| 6,000,000 6,000

202 (4 HI 30,240 30,240

02 SHAHI 30,240 30,240
OE MY 30,240,000 30,240

AR XNENL(ZELXIENS /XY 500,000 450,000

OIEHOIAE &= 500,000 450,000

AXZ2ME S AFE 50,000 50,000
401 AEHIZ 2] 50,000 50,000
01 Al&H| 49,460 49,460

O9xXZ2 MES= AE 49,460,000& 49,460
03 AlA&Z20HYI 540 540
OYXE MESE ALY 50,000,000 %1.08/100 540

A2 FO= ALY 300,000 300,000
401 AIEHIZ 20| 300,000 300,000
01 Al&HI 296,760 296,922

O3H27 s2 &1L 19,784,000 19,784
Ootel# s &1L ¥ 19,784,000& 19,784
OfE27 &2 4| 19,784 ,000& 19,784
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oo

D ARE NEHS(BELX ML/ NALEAI)
D FDIBOAIL BHE SEE
BSA - MG (B H) - MEBAIY - BAH2 A} OH &EIE SF
Ostge+ &===2 FH| 19,784,000 19,784
ogdts s =¥ 19,784,000& 19,784
OMoiAZAIE HE = 49,460,000& 49,460
OsEZ ML At 29,676,000 29,676
OARE Ssdad|et Fdl 59,352,000& 59,352
Os0HEZZ(s2,21%) F4l 59,352,000& 59,352
03 A2 R04Hl 3,240 3,078 162
O382+ =2 X& 20,000,000 *1.08/100 216
Ottg1? =2 &ZF  20,000,00021.08/100 216
OfiE27 &2 HHl 20,000,000 *1.08/100 216
Ootg2+ T2 AHl 20,000,000 *1.08/100 216
Oogtts s2 Z& 20,000,000& *1.08/100 216
OMaHAZAIE W2+ 50,000,000 *1.08/100 540
O=ZZMeds Arg 30,000,000 1.08/100 324
OAnE gsdatd|et Fol
60,000,000 *1.08/100 648
OsHEEZ(s2.,20%) Fdl
60,000,000& *1.08/100 648
oA A 150,000 100,000 50,000
401 AIEHIZ 208 150,000 100,000 50,000
01 Al&H| 148,380 98,920 49,460
OF2EUAL 148,380,000 148,380
03 Al =204l 1,620 1,080 540
OIS HAS 150,000, 000% *1.08/100 1,620
HH2FZHI(0F=2E)(JIEH/IIE) 20,740 20,740 0
I 2 9,600 9,600 0
el 23| 9,600 9,600 0
203 R4l 9,600 9,600 0
01 JI22F L= 6,600 6,600 0
ou¥ 6,600,000 6,600
04 BEN2SHRFLHI 3,000 3,000 0
ORAN2S YR 3,000,000& 3,000
=3l 11,140 11,140 0
JI=&Hl 11,140 11,140 0
201 LEH2HH| 8,140 8,140 0
01 AtSR22/Hl 8,140 8,140 0
Ogt=2H| 8,140,000& 8,140
202 Oddl 3,000 3,000 0
01 WY 3,000 3,000 0
o220 3,000,000 3,000
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=0
AMBH TR S (AVDTHY/LUHE)
ASBHEE 29 ECR-ED
SA-EH O (BH) - HBAY - B2 gggf; HRS2
=0 689, 460 643,788 45,672
UM EE SH (Y22 H /U A) 168,720 172,028 N 3,308
UNHH XA 2H 168,720 172,028 AN 3,308
SclgtdE =2 2 54 A 88,480 88,480 0
301 et A= 88,480 88,480 0
05 -2l -&sEs8aa3 88,480 88,480 0
OO0l & 85,280
—Jl2s< 200,000& x26H x12& 62,400
—&02 200, 000& 262 *200% 10,400
—3oE ALY 20,000 x26H x23| x12& 12,480
Ostd & 50,000& x64H 3,200
SHy 29 80,240 83,548 N 3,308
201 B3| 50,000 48,988 1,012
01 AtR22teldl 18,900 19,028 AN 128
Odet=2H| 8,900,000& 8,900
oggsg 5,600,000 5,600
OZ &l 4,400,000 4,400
02 ss2494l 31,100 29,960 1,140
OBZ222YLHA 18,700,000& 18,700
OAI & &HI KX 8] 1,000,000& 1,000
OXteHey| 11,400,000 11,400
202 4 HI 30,240 34,560 N4,320
02 SHAHI 30,240 34,560 N4 ,320
OE MY 30,240,000 30,240
ARD XYWL (ZELXGNLY /XA LEZAl) 500,000 450,000 50,000
OIEHOIAE &= 500,000 450,000 50,000
AXZ2ME S AFE 50,000 50,000 0
401 AEHIZ 2] 50,000 50,000 0
01 Al&H| 49,460 49,460 0
O9xXZ2 MES= AE 49,460,000& 49,460
03 AlA&Z20HYI 540 540 0
OYXE MESE ALY 50,000,000 %1.08/100 540
A2 FO= ALY 300,000 300,000 0
401 AIEHIZ 20| 300,000 300,000 0
01 Al&HI 296,760 296,922 N 162
O=17 =g 2241 19,784,000 19,784
o817 2J12l& & 29,676,000 29,676
Oosf27 g8 g 24,730,000 24,730
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SN

= 7
==
M AR
X0
=

o DIHOIAAE &= (&9 HM
_ ) _ pofEN
2N -3 - c2(3H) - NEME - HES 0] AFCH ‘Oﬂ/i\_Fo” Hns
O=g1+ s2Hd & ZEZBA 24,730,000 24,730
OMMHAEANE WE = 49,460,000& 49,460
O=s&Z3HEgs s A 29,676,000 29,676
OL7AE IS8 Y| 59,352,000& 59,352
OsHEEZ2 (= <) &bl 59,352,000& 59,352
03 A&20HYI 3,240 3,078 162
=17 sgEF 22 LXK
20,000,000 %1.08/100 216
o817 2J12l& &
30,000,000 =1.08/100 324
Ogfl27 g2+ g
25,000,000& %1.08/100 270
O=817? s2I4 LE DAL
25,000,000& *1.08/100 270
OMdiAE A A 50,000,000& *1.08/100 540
O=s&ZdNegs 30,000,0002%1.08/100 324
OARE S Mat AH|
60,000,000& x1.08/100 648
OsHEC2(=s2,21%) &l
60,000,000 *1.08/100 648
F Ol oAl 150,000 100,000 50,000
401 AlEHI Y20 150,000 100,000 50,000
01 Al&H| 148,380 98,920 49,460
OF0lgatArd 148,380,000& 148,380
03 Al =20HYI 1,620 1,080 540
OFZ YA 150,000, 000& *1.08/100 1,620
HYSHHHI(E3H)(IIEHIIE 20,740 21,760 A 1,020
ol 2HH| 9,600 9,600 0
olsed 2 HH| 9,600 9,600 0
203 PR =&l 9,600 9,600 0
01 D229 RF=T| 6,600 6,600 0
OHE 6,600,000 6,600
04 2EASIIRF=EH| 3,000 3,000 0
ORNSIHERFAY| 3,000,000& 3,000
=4t 11,140 12,160 A 1,020
Jl2&Hl 11,140 12,160 AN 1,020
201 2Er24d| 8,140 9,160 A 1,020
01 At22telyl 8,140 9,160 A 1,020
Odet=2H| 8,140,000& 8,140
202 (4l 3,000 3,000 0
01 2WAHI 3,000 3,000 0
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A =HH
By AMBNIN S (YD /LUHET)

ool AMBHTX 2Y SREED)
SA-EH O (BH) - HBAY - B2 gggf; HRS2
ZHAH 668, 230 619,920 48,310
UM EE SH (Y22 H /U A) 145,270 146,450 A 1,180
UNHH XA 2H 145,270 146,450 A 1,180

SclgtdE =2 2 54 A 58,610 58,610 0
301 et A= 58,610 58,610 0

05 -2l -&sEs8aa3 58,610 58,610 0
OO0l & 55,760
—Jl2s< 200,000& x17H x12& 40,800
—&02 200, 000& *17H *x200% 6,800
—3oE ALY 20,0003 x17H*23| x12& 8,160
Ostd & 50,000& x57H 2,850
SHy 29 86,660 87,840 A 1,180
201 B3| 52,100 51,120 980
01 AtR22teldl 25,400 20,200 5,200
Odet=2H| 14,800,000& 14,800
oggsg 5,600,000 5,600
OZ &l 5,000,000& 5,000

02 ss2494l 26,700 30,920 N4, 220
OBZ222YLHA 14,500, 000& 14,500
OAI & &HI KX 8] 4,200,000 4,200
OXteHey| 8,000,000& 8,000

202 (4 HI 34,560 36,720 A2,160

02 SHAHI 34,560 36,720 N2,160
OE MY 34,560,000& 34,560

ARD XYWL (ZELXGNLY /XA LEZAl) 500,000 450,000 50,000

FOIHOIAL &= 500,000 450,000 50,000

AXZ2ME S AFE 50,000 50,000 0
401 AEHIZ 2] 50,000 50,000 0
01 Al&H| 49,460 49,460 0

O9xXZ2 MES= AE 49,460,000& 49,460
03 AlA&Z20HYI 540 540 0
OYXE MESE ALY 50,000,000 %1.08/100 540

A2 FO= ALY 300,000 300,000 0
401 AIEHIZ 20| 300,000 300,000 0
01 Al&HI 296,760 296,760 0

O =2 & AWg AX| 24,730,000 24,730
OZZ"E0IE dat=% &bl 19,784,000& 19,784
OUHEE A AtHE s EH 19,784 ,000& 19,784
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SN EAS
BE: ARD NN (FELTANL/NSLETAI)

Sl FUBOIAIL 25 (el &2
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 0 Ak o4 il b o bRz
OHUHOIS o4 OfA2 EH 34,622,008 34,622
OMBHABAIL N4 49,460,000%! 49,460
OsZZMELS MY 29,676,0002! 29,676
OARD YsHAIIB FH| 59,352, 0002 59,352
OS0EE2(52,2/5) Bt 59,352,008 59,352
03 Al&=CHYl 3,240 3,240 0
ORY W42 L 20 &3
25,000,0002+1.08/100 270
ORBOIZ 5t4E F|
20,000,000%+1.08/100 216
OUTLL A2l S2EE
20,000,000 1.08/ 100 216
OBUHOIS o 022 EF
35,000,000 *1.08/100 378
OTHBHIBAIL HE4 50,000,0002+1.08/100 540
OsZ=Z M4 A 30,000,000 +1.08/100 324
OARD YsHAIIB FH|
60,000,000 1.08/ 100 648
OS0EE2(52,215) 3|
60,000,002 *1.08/100 648
FOIAYAY 150,000 100,000 50,000
401 AIZHIL2CH] 150,000 100,000 50,000
01 Al 148,380 98,920 49,460
OF UL YA 148,380,0002! 148,380
03 Al&=ChH] 1,620 1,080 540
OFUS YA 150,000, 0002 *1.08/100 1,620
™SS ZHI(ZHS)(IEHIIEH 22,960 23,470 A510
o2y 10,800 10,800 0
ol 2 bl 10,800 10,800 0
203 R =Y 10,800 10,800 0
01 JZ2YYREY) 6,600 6,600 0
osiy 6,600,0002 6,600
M4 FARYARETY 4,200 4,200 0
ORASYAR=Y) 4,200,000% 4,200
=2l 12,160 12,670 A510
o=l 2,160 12,670 A510
201 2sr2 | 9,160 9,670 A510
01 AR eIt 9,160 9,670 A510
ogersg| 9,160,000%! 9,160
202 01t 3,000 3,000 0
01 2Ujoit] 3,000 3,000 0
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S Ao
M AMUTXE 2 (AL BIHT /YY)
Sl ALBHIN 2 (B9 &)
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K %Eﬁiﬁ HwsZ
24 24 04 651,970 603,784 48,186
UMBHIE 2 (UVDTYY/LBH) 131,230 132,534 A1,304
UMHHER 2 131,230 132,534 A1,304
Solud 49 2 2SH X 60,690 60,690 0
301 YsrPAS 60,690 60,690 0
05 -2 - SEESEN2 60,690 60,690 0
K] 59,040
24y 200,000 * 18 * 122 43,200
— 402 200,002 * 188 *200% 7,200
—glol g s 20,0002 * 182 x23| * 122 8,640
OPr &g 50,0002 *33% 1,650
soiay 2y 70,540 71,844 A1,304
201 Yereg| 40,300 39,444 856
01 AtRZ2IY| 20,900 39,444 A18,544
SETIER-= 1 10,900,000%! 10,900
o2gag 5,600, 0002 5,600
SEET 4,400,0002 4,400
02 ZB2Y| 19,400 0 19,400
OZZRILHA 11,800,00024 11,800
OAN&ZHI S| 1,600,0002 1,600
Oxt gl et 6,000, 0002 6,000
202 01t 30,240 32,400 A2,160
02 201t 30,240 32,400 A2, 160
SELIT 30,240,0002 30,240
APS KAWL (ZELRANL/XALTAI) 500,000 450,000 50,000
ZOIHO AL &5 500,000 450,000 50,000
AxSHB4 Al 50,000 50,000 0
401 AEHI LS 50,000 50,000 0
01 Al&| 49,460 49,460 0
OYZEE W+ Al 49,460,00024 49,460
03 Al& S CHY| 540 540 0
OYZE2 24 AP 50,000,000 *1.08/100 540
ARD FOUSH ALY 300,000 300,000 0
401 Al&HIL 20| 300,000 300,000 0
01 Al&| 296,760 296,760 0
Olls =2 =#ug 19,784,000 19,784
ZE BTY MY Y 52 HEH
19,784,000 19,784
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SN B
Ha: ARD XN (FELXANL/NHL A
9l EOIMOIAIL &3 (S5l &2
_ _ _ N E
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K ‘Oﬁ,‘\jg‘; HwsZ
ONME =2 =2% 2 22 FH|
24,730,0002! 24,730
ORY HeE 523l 34,622,000 34,622
OMBNSIBAL W2 49,460,0002 49,460
OSEIMELS A 29,676,0002 29,676
OATS Y=g FH| 59,352,000 59,352
OSHEZZ2(52,2/S) FHl  59,352,0009 59,352
03 Al& S CH| 3,240 3,240 0
O0i5 s2 =Z& 20,000,000 1.08/100 216
OZ& sBFH MY L =2 =T
20,000, 0002 *1.08/100 216
ONE 52 =TH U 42 Fb|
25,000, 0002 *1.08/100 270
ORY Y22 523
35,000,0002*1.08/100 378
OMBHSIBEAIA W< 50,000,000% *1.08/100 540
OSEJRELS AL 30,000,000 1.08/100 324
OATS YA Y|
60,000,0002*1.08/100 648
OS0=E2(52,21E)
60,000, 0002 *1.08/100 648
DI YA S 150,000 100,000 50,000
401 Al&HIL 20| 150,000 100,000 50,000
01 Al&H] 148,380 98,920 49,460
OF LY ALY 148,380,0002 148,380
03 Al& S CH| 1,620 1,080 540
OF IS Y ALY 150,000,000 *1.08/100 1,620
N2 AY| (M) (JIEHIIE) 20,740 21,250 A510
oIz 2| 9,600 9,600 0
ol 2| 9,600 9,600 0
203 YREZY| 9,600 9,600 0
01 JBSYAREAY| 6,600 6,600 0
OpiE 6,600, 0002 6,600
04 BNRYAREAY| 3,000 3,000 0
ORN2YYLETY| 3,000,0002 3,000
=L 11,140 11,650 A510
=2l 11,140 11,650 A510
201 Ygreg| 8,140 8,650 A510
01 At 22l 8,140 8,650 A510
oggr=gY| 8, 140, 0002 8,140
202 01t 3,000 3,000 0
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SN d=e
By AMBNIN S (YD /LUHET)

ool AMBHTX 2Y ECR-ED
SA-EH O (BH) - HBAY - B2 gggf; HRS2
220 628,820 580,410 48,410
UM EE SH (Y22 H /U A) 108,590 109,670 A 1,080
UNHH XA 2H 108,590 109,670 A 1,080

SclgtdE =2 2 54 A 40,410 40,410 0
301 et A= 40,410 40,410 0

05 -2l -&sEs8aa3 40,410 40,410 0
OO0l & 39,360
—Jl2s< 200,000& x12¥ x12& 28,800
—&02 200, 000& *12H *x200% 4,800
—3oE ALY 20,0003 x12H 23| 12& 5,760
Ostd & 50,000& *x21H 1,050

SHy 29 68, 180 69,260 A 1,080
201 B3| 40,100 39,020 1,080
01 AtR22teldl 20,500 17,620 2,880

Odet=2H| 10,800,000& 10,800
oggsg 5,600,000 5,600
OZ &l 4,100,000 4,100
02 ss2494l 19,600 21,400 A 1,800
OBZ222YLHA 10,600, 000& 10,600
OAI & &HI KX 8] 2,500,000& 2,500
OXteHey| 6,500,000 6,500
202 (4 HI 28,080 30,240 A2,160
02 SHAHI 28,080 30,240 N2,160
OE MY 28,080,000& 28,080
ARD XYWL (ZELXGNLY /XA LEZAl) 500,000 450,000 50,000

OIEHOIAE &= 500,000 450,000 50,000

AXZ2ME S AFE 50,000 50,000 0
401 AEHIZ 2] 50,000 50,000 0
01 Al&H| 49,460 49,460 0

O9xXZ2 MES= AE 49,460,000& 49,460
03 AlA&Z20HYI 540 540 0
OYXE MESE ALY 50,000,000 %1.08/100 540

A2 FO= ALY 300,000 300,000 0
401 AIEHIZ 20| 300,000 300,000 0
01 Al&HI 296,760 297,084 N 324

Oaly orAx® & 39,568,000 39,568
OMIMZE 28 s82LF 29,676,000 29,676
OESAHA HH| 29,676,000 29,676
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L(SELX AN
QEHOAE =F

ne
~
-
12
He
H
=

M- ®=Z . Che (5 NEAY . B2 Al OH HEE Hl =2+
OMdAE AL HES 49,460,000 49,460
O=ZEZH&gds A 29,676,000& 29,676
OL7E SsAD|BE | 59,352,000& 59,352
OsHEzz(=2,21%) &l 59,352,000& 59,352
03 Al =20HY| 3,240 2,916 324
OANl Ota&d L& 40,000,000& *1.08/100 432
OMMZE 2t s2EEH
30,000,000& *1.08/100 324
OZFANE EHI 30,000,000& *1.08/100 324
OXoHIE A JHE= 50,000,000&*1.08/100 540
Os=ZHads AHY 30,000,000 =1.08/100 324
Oantl IS=MeD|BE F|
60,000,000 *1.08/100 648
OsHEz2(=2,21%) &l
60,000,000 *1.08/100 648
QI ALY 150,000 100,000 50,000
401 AIEHIZ 2 150,000 100,000 50,000
01 Al&HI 148,380 98,920 49,460
O=aEUAS 148,380, 000& 148,380
03 Al =20HY| 1,620 1,080 540
OF0Ig YA 150,000,000 *1.08/100 1,620
HY2AHUI(L=H)(IIEH/DIE) 20,230 20,740 A510
S22l 9,600 9,600 0
A2Fl 9,600 9,600 0
203 EERF=&| 9,600 9,600 0
01 J|22IHRF&HI 6,600 6,600 0
OHE 6,600,000& 6,600
04 ENEILSZ=EH| 3,000 3,000 0
ORNSIEHRFAH 3,000,000 3,000
224l 10,630 11,140 A510
JlE2Z | 10,630 11,140 A510
201 Lt 7,630 8,140 A510
01 AtSR2t2ldl 7,630 8,140 A510
Oger=2H| 7,630,000 7,630
202 44| 3,000 3,000 0
01 =LHA b 3,000 3,000 0
O& 2 o bl 3,000,000& 3,000
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SN "o
Mo YMHYEE S (UBBITUT/YLHT)

o9l AMBYEE 2 (Sl #)
SA-EFH - SA(SAH) - MREAY - BES Ol &+ 9K %Eﬁiﬁ Hws2
oo 679,370 633, 754 45,616
UMBHIE 2 (UVDTYY/LBH) 158,630 161,994 3,364
ALSHYER 2 158,630 161,994 A3,364

SeleE 49 o 2SH N 77,690 77,690 0
301 LB A 77,690 77,690 0

05 S-2 BEESEAS 77,690 77,690 0
K] 75,440
24y 200, 0002 x23% * 122 55,200
— 4012 200,000 *232 *200% 9,200
—glol g s 20,0002 x23% %25| + 122 11,040
ougag 50, 0002 *458] 2,250

soiay 2y 80,940 84,304 ~3,364
201 LByl 50,700 49,744 956
01 ARl 20,500 20,044 456

OHIEER-= 1 10,500, 000! 10,500
o2gag 5,600,0002! 5,600
SEE 4,400,0002 4,400
02 IT2YH| 30,200 29,700 500
OZZRILHA 17,400, 00024 17,400
CNEETES 1,300,0002 1,300
Oxt gl et 11,500, 000! 11,500
202 04t 30,240 34,560 A4,320
EET 30,240 34,560 A4,320
O= %ol 30,240,0002 30,240
A2 TGN (FELXAHL /XL A 500,000 450,000 50,000
ZoIEoNL =5 500,000 450,000 50,000

YE2MWEA At 50,000 50,000 0
401 Al&HIL 2O 50,000 50,000 0
01 Al&H] 49,460 49,460 0

OYZEE W+ Al 49,460,002 49,460
03 Al&=CHYl 540 540 0
OYEES B4 AP 50,000,0002+1.08/100 540

ARR FOISE ALY 300,000 300,000 0
401 Al&HIL 20| 300,000 300,000 0
01 Al&H] 296,760 297,127 A367

04 4&E s2FY| 24,730,0002 24,730
o=z B =yl 24,730,0002 24,730
ONER & Fl 24,730,002 24,730
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SN
X XH .
S Tt

el

3o
AL XN (
STIREEINPE

=
st
=,

Ot

H
tm

19
=
ne
=
12
He
H

Al

SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
OZ= g4 =21 % 24,730,0002 24,730
OMBMABAIL W22 49,460,0002 49,460
OSELRBLS A 29,676,0002 29,676
OARS YsMaIleh Z| 59,352,0002 59,352
OSOHEE2(52,2/5) FHl 59,352,008 59,352
03 Al&=CHH| 3,240 2,873 367
OAd A& =2FH|  25,000,0008 *1.08/100 270
OR= B2 Hy| 25,000,000 *1.08/100 270
OMS= HM& HHl  25,000,0008%1.08/100 270
OZF= €& =2IF  25,000,0008*1.08/100 270
OTHBHSIEAIL L4 50,000,008 *1.08/100 540
OSZHREL5 AL 30,000,008 *1.08/100 324
OAR2 FsMaI|eh Z|
60,000,000 *1.08/100 648
OsHECR2(52,215) FY|
60,000,0002 *1.08/100 648
OISO AY 150,000 100,000 50,000
401 AlEHIL 20| 150,000 100,000 50,000
01 Al&H 148,380 98,920 49,460
OF S U A 148,380, 0002 148,380
03 Al&=CHH| 1,620 1,080 540
OF S U A 150,000,0002 1.08/100 1,620
HYSHAHI(HLH)(IIEHIIE) 20,740 21,760 A 1,020
ol 2oy 9,600 9,600 0
ol 2oy 9,600 9,600 0
203 YRFAY| 9,600 9,600 0
01 JIBSHALSAIY| 6,600 6,600 0
o E 6,600,000 6,600
04 BASAALEAY| 3,000 3,000 0
ORN2gdR =Yl 3,000,000 3,000
DT 11,140 12,160 A 1,020
DL 11,140 12,160 A 1,020
201 Ygr2gy| 8,140 9,160 A 1,020
01 AtR2elt| 8,140 9,160 A 1,020
OYgt+gH| 8,140,000 8,140
202 01| 3,000 3,000 0
01 2L§odt] 3,000 3,000 0
O2+2l 01t 3,000,000 3,000
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AN =M
My AMBNIN S (YD /LUHET)

ool AMBHTX 2Y SREED)
SA-EH O (BH) - HBAY - B2 gggf; HRS2
HN=ZH 643,880 595,536 48,344
UM EE SH (Y22 H /U A) 123,650 124,796 A 1,146
UNHH XA 2H 123,650 124,796 A 1,146

SclgtdE =2 2 54 A 54,280 54,280 0
301 et A= 54,280 54,280 0
05 -2l -&sEs8aa3 54,280 54,280 0

OO0l & 52,480
—Jl2s< 200,000& x16H x12& 38,400
—&02 200, 000& *x16H *200% 6,400
—3oE ALY 20,0003 x16H *23| x12& 7,680
Ostd & 50,000& x36H 1,800
SHy 29 69,370 70,516 A 1,146
201 B3| 41,290 40,276 1,014
01 AtR22teldl 20,490 18,364 2,126
Odet=2H| 10,790,000& 10,790
oggsg 5,600,000 5,600
OZ &l 4,100,000 4,100

02 ss2494l 20,800 21,912 A1,112
OBZ222YLHA 11,800, 000& 11,800
OdzHl 600,000& 600
OAlI & &H| 2 Xl HI 2,000,000& 2,000
OXbe eyl 6,400,000 6,400

202 044l 28,080 30,240 AN2,160

02 XA b 28,080 30,240 N2,160
O MY 28,080,000& 28,080

AR XNENL(ZELXINL /XL AL 500,000 450,000 50,000

OIHOIAE &= 500,000 450,000 50,000

AXZME S AFE 50,000 50,000 0
401 AlEHIZE20UHI 50,000 50,000 0
01 Al&H| 49,460 49,460 0

O9xXE MES= ALY 49,460,000 49,460
03 Al =20HbI 540 540 0
OYXE MELE ALY 50,000,000 %1.08/100 540
A2 FO=3 At 300,000 300,000 0
401 AIEHIZ 20| 300,000 300,000 0
01 Al&H| 296,976 296,976 0
Oog=02 =& 19,784,000& 19,784
oM =22 &X 10,000, 000& 10,000
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2N HEH
HE: ARS NN (FELN SN/ NALSAI)
Sl FUBOIAIL 25 SRE
= o MuE o
K2 e ((E0) - MRAY - B2 arol i 2
O 42 H| 19,784,002 19,784
084 222 & 19,784,0002! 19,784
025 4+23 &% 10,000, 0002 10,000
one0lS & = 19,784,0002! 19,784
OTMBHABAIL HE 49,460,002 49,460
OsZ=ANELE A 29,676,002 29,676
OARD FSHAIIY FH| 59,352, 00021 59,352
OS0&T2(52,2/5) ®Hl 59,352,008 59,352
03 Al& S CH| 3,024 3,024 0
OZ=0IE EX 20,000,002 *1.08/100 216
OZF W42 Fbl  20,000,00021+1.08/100 216
O4 £22 &% 20,000,000 *1.08/100 216
O=20I2 &6 X4  20,000,0002+1.08/100 216
OTHBHPIZAIL HHE4 50,000,000 1.08/100 540
OsZZRESS ALY 30,000,000 *1.08/100 304
OARD FSHAIIB ZH|
60,000, 0002 *1.08/100 643
OS0ZEE2(52.2/S) F|
60,000, 00021 *1.08/100 648
01 % O ALY 150,000 100,000 50,000
401 AIEHIL 2O 150,000 100,000 50,000
01 Al&t] 148,380 98,920 49,460
OFUL YA 148,380,0002 148,380
03 Al&=CHY] 1,620 1,080 540
OFUS YA 150,000, 0002 *1.08/100 1,620
™Y AU (NSS! (IEHIIE) 20,230 20,740 A510
oz 2| 9,600 9,600 0
ol 2yl 9,600 9,600 0
203 PR =Y 9,600 9,600 0
01 JIR2YAR Y| 6,600 6,600 0
o9z 6,600,000 6,600
04 BNSYYRETY] 3,000 3,000 0
ORN2YYLETY) 3,000,000 3,000
=1 10,630 1,140 A510
=y 10,630 11,140 AB10
201 LByl 7,630 8,140 A510
01 ARl 7,630 8,140 A510
ogersgY| 7,630,0002! 7,630
202 04t 3,000 3,000 0
01 =2Uloibl 3,000 3,000 0
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e
AMHHER 2Y(YUBTHT )
ASBHEE 29 ECR-ED
SA-EH O (BH) - HBAY - B2 gggf; HRS2
CherH 648,930 597,812 51,118
UM EE SH (Y22 H /U A) 127,680 126,562 1,118
UNHH XA 2H 127,680 126,562 1,118
SclgtdE =2 2 54 A 54,380 54,380 0
301 et A= 54,380 54,380 0
05 -2l -&sEs8aa3 54,380 54,380 0
OO0l & 52,480
—Jl2s< 200,000& x16H x12& 38,400
—&02 200, 000& *x16H *200% 6,400
—3oE ALY 20,0003 x16H *23| x12& 7,680
Ostd & 50,000& x38H 1,900
SHy 29 73,300 72,182 1,118
201 B3| 40,900 39,782 1,118
01 AtR22teldl 21,500 18,682 2,818
Odet=2H| 11,200,000& 11,200
oggsg 5,600,000 5,600
OZ &l 4,700,000 4,700
02 ss2494l 19,400 21,100 A 1,700
OBZ222YLHA 11,900, 000& 11,900
OdzHl 500,000& 500
OAlI & &H| 2 Xl HI 2,000,000& 2,000
OXbe eyl 5,000,000 5,000
202 044l 32,400 32,400 0
02 XA b 32,400 32,400 0
O MY 32,400,000 32,400
2 XYY (2EYXE L /X HL 500,000 450,000 50,000
OIHOIAE &= 500,000 450,000 50,000
AXZME S AFE 50,000 50,000 0
401 AlEHIZE20UHI 50,000 50,000 0
01 Al&H| 49,460 49,460 0
O9xXE MES= ALY 49,460,000 49,460
03 Al =20HbI 540 540 0
OYXE MELE ALY 50,000,000 %1.08/100 540
A2 FO=3 At 300,000 300,000 0
401 AIEHIZ 20| 300,000 300,000 0
01 Al&H| 296,760 296,922 N 162
OO0lH HE= H&EEHI 19,784,000& 19,784
Of2=2 25= otad| 29,676,000 29,676
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A HEH

HE: ARS NN (FELNSNL/NALSAI)
9l EOIMOIAIL &3 (el &2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
SPFERESERE 29,676,002 29,676
Ouigr JtatE s2HY| 19,784,0002! 19,784
OMHABAIL N2+ 49,460,002 49,460
OsZNELs MY 29,676,002 29,676
027D YSHAIIB FH| 59,352, 0002 59,352
Os0ET2(52,2/E) Bt 59,352,008 59,352
03 Al&=ThYl 3,240 3,078 162
OO0l FHEZ MAEFY|
20,000,002 *1.08/100 216
023 253 st@FY|
30,000,002 1.08/100 324
Oge 4D Jb& 30,000,000 *1.08/100 324
Ouler JtatE s2FY|
20,000,002 *1.08/100 216
OTHBHI B AIZ N4 50,000,0002+1.08/100 540
OS&EARELS ALY 30,000,000 *1.08/100 324
OARRD FSHAIIB FH]
60,000,0002!*1.08/100 648
OSHECE(52.2/S) J|
60,000,000 1.08/ 100 648
FOIAYAY 150,000 100,000 50,000
401 AlZHIL 2O 150,000 100,000 50,000
01 Al 148,380 98,920 49,460
OFUS YA 148,380, 00024 148,380
03 Al&=THYl 1,620 1,080 540
OF S YA 150,000,002 *1.08/100 1,620
X2 YA (LS (JIEHIIE) 21,250 21,250 0
o1z 2| 9,600 9,600 0
ol 2| 9,600 9,600 0
203 HRFY| 9,600 9,600 0
01 IS YR =AY 6,600 6,600 0
oSy 6,600,000 6,600
04 EN2YYARETY| 3,000 3,000 0
ORN2YYRETY 3,000,0002! 3,000
[T 1,650 11,650 0
o=l 1,650 11,650 0
201 Yer2 ) 8,650 8,650 0
01 ALR eIt 8,650 8,650 0
Osr4gY| 8,650,0002! 8,650
202 01t 3,000 3,000 0
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oF
R’

ok
ol

BI(CHEE ) (D1EH/DIE)

50

80 &
TJ OH |0
00 &0 i
O o0 ~

SHAR

2
o T
&l

e

n0

KIo

Bl w

LH3r
m<l
Rk

3,000

=
o

s

<J

3,000
3,000

=LH0dbl

01

3,000, 000&

O=20id
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24 81 0
AMHYER 2 (YYRB )
AMHYEH 29 (B9 &)
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K %Eﬁiﬁ HwsZ
2404 0 684,550 638,880 45,670
UMBHIE 2 (UVDTYY/LBH) 163,810 167,120 A3,310
UMHHER 2 163,810 167,120 £3,310
Solud 49 2 2SH X 91,110 91,110 0
301 LB A 91,110 91,110 0
05 -2 -HPBS2HI 91,110 91,110 0
K] 83,560
24y 200, 0002 x27% * 122 64,800
— 402 200, 0002 *27 % *200% 10,800
—glol g s 20,0002 27 %23| # 122 12,960
ougag 50,0002 *51% 2,550
soiay 2y 72,700 76,010 £3,310
201 LByl 42,460 41,450 1,010
01 AtRZ2IY| 22,700 20,830 1,870
SETIER-= 1 12,700,000 2,700
o2gag 5,600, 0002 5,600
SEET 4,400,0002 4,400
02 IT2YH| 19,760 20,620 A860
OZZRILHA 12,760,0002! 12,760
CNEETES 2,000, 0002 2,000
Oxt gl et 5,000, 0002 5,000
202 04t 30,240 34,560 A4,320
02 201t 30,240 34,560 A4,320
SELIT 30,240,0002 30,240
APS NGNS (ZELR SN L/X Y 500,000 450,000 50,000
DIMOAIA &5 500,000 450,000 50,000
YE2MWEA At 50,000 50,000 0
401 AEHI LS 50,000 50,000 0
01 Al&| 49,460 49,460 0
OYZEE W+ Al 49,460,00024 49,460
03 Al& S CHY| 540 540 0
OYZE2 24 AP 50,000,000 *1.08/100 540
A2 FOULA A 300,000 300,000 0
401 Al&HIL 20| 300,000 300,000 0
01 Al&| 296,760 296,760 0
O™ MEZH 29,676,0002 29,676
OU=0tS 2r2 J| 24,730,0002 24,730
OS2 2T 19,784,0002! 19,784
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SN

o

HE: A7
X0
=

Gl DIHOIAIA &= (&9 HM
o _ _ bolEN=
AN - JZH . S (S H) SAY - BHES A oH Om;m Hl =2
O0lY =22 F 24,730,000 24,730
OMHAE AL W 49,460,000 49,460
O==3 NS5 Al 29,676,000 29,676
OARD HsMAD|IBE Y| 59,352,000 59,352
OsHEE=2(s2,2 X H| 59,352,000 59,352
03 Al&=2CHHI 3,240 3,240 0
OB MAFH 30,000,000 *1.08/100 324
O=nots o+ &H 25,000,000 *1.08/100 270
22 o2 20,000,000 *1.08/100 216
O0lY =22 25,000,000 *1.08/100 270
OMBHIAE AL HE 50,000,000 *1.08/100 540
OsZZNELE A 30,000,000 *1.08/100 324
OARD FsMAD|IBE Y|
60,000,000 *1.08/100 648
OsHEZZ2(s2,21%) H
60,000,000 *1.08/100 648
(SIRe-RelgN e 150,000 100,000 50,000
401 Al&H| L LCHY| 150,000 100,000 50,000
01 Al&H] 148,380 98,920 49,460
OF0IH U AL 148,380,000 148,380
03 Al&=2CHHI 1,620 1,080 540
OF0IHUAY 150,000,00024 *1.08/100 1,620
HNMSAZH| (M) (IIEHIIE} 20,740 21,760 A1,020
ol 2| 9,600 9,600 0
ol 29| 9,600 9,600 0
203 A2 =X 9,600 9,600 0
01 JIA2I AL E=XIH| 6,600 6,600 0
OHZ 6,600,000 6,600
04 BANRIARZEIH| 3,000 3,000 0
ORMN2IALZ=EIH| 3,000,0008 3,000
=23 11,140 12,160 A1,020
ey 11,140 12,160 A1,020
201 LEt2AH| 8,140 9,160 A1,020
01 AFR22lH] 8,140 9,160 21,020
(@FIEIE=1s] 8,140,000& 8,140
202 OfH] 3,000 3,000 0
01 2oy 3,000 3,000 0
O=2 04 3,000,000 3,000
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S ADbS
By AMBNIN S (YD /LUHT)

ool AMBHTX 2Y ECR-ED
SA-EH O (BH) - HBAY - B2 Ao gggf; HRS2
&OH 735,130 684,624 50,506
UM EE SH (Y22 H /U A) 211,150 210,134 1,016
UNHH XA 2H 211,150 210,134 1,016

SclgtdE =2 2 54 A 114,770 114,770 0
301 et A= 114,770 114,770 0

05 -2l -&sEs8aa3 114,770 114,770 0
OO0l & 111,520
—Jl2s< 200,000& *34H x12& 81,600
—&02 200, 000& *34H x200% 13,600
—3oE ALY 20,000 x34H x23| x12& 16,320
Ostd & 50,000& x65H 3,250
SHy 29 96,380 95,364 1,016
201 B3| 57,500 54,324 3,176
01 AtR22teldl 21,400 20,684 716
Odet=2H| 10,200,000& 10,200
oggsg 5,600,000 5,600
OZ &l 5,600,000& 5,600

02 ss2494l 36, 100 33,640 2,460
OBZ222YLHA 18,600, 000& 18,600
OAI & &HI KX 8] 2,000,000& 2,000
OXteHey| 15,500,000 15,500

202 4 HI 38,880 41,040 A2,160

02 SHAHI 38,880 41,040 N2,160
OE MY 38,880,000& 38,880

ARD XYWL (ZELXGNLY /XA LEZAl) 500,000 450,000 50,000

FOIHOIAL &= 500,000 450,000 50,000

AXZ2ME S AFE 50,000 50,000 0
401 AEHIZ 2] 50,000 50,000 0
01 Al&H| 49,460 49,460 0

O9xXZ2 MES= AE 49,460,000& 49,460
03 AlA&Z20HYI 540 540 0
OYXE MESE ALY 50,000,000 %1.08/100 540

A2 FO= ALY 300,000 300,000 0
401 AIEHIZ 20| 300,000 300,000 0
01 Al&HI 296,922 296,760 162

OO0l & =4 24,730,000 24,730
O+ s22 & 19,784,000& 19,784
O s2x & 19,784 ,000& 19,784
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ADHH

D ATE NSNS (BELNANL/NALEA)
FOEHOAE &=

SN B SRA(SIH) - MBAY - BAS

22
J2

20
B
2

OLd sgE+= WY 19,784,000 19,784
Ox= M&&Hh 15,000,000& 15,000
OMoiAZ AL HE = 49,460,000& 49,460
O=sEZMEds At 29,676,000 29,676
OARE Ssdadet Fol 59,352,000& 59,352
OsHEEZ2(s2.2%) gl 59,352,000& 59,352
03 A2 R04Hl 3,078 3,240 A162
O0t= &8 =4 25,000,000 *1.08/100 270
Oxd s22% 20,000,000 *1.08/100 216
ol =2 20,000,000 *1.08/100 216
O2Ld =48 g 20,000,000 *1.08/100 216
OMaHAZAlE HE+ 50,000,000 +1.08/100 540
=sZ3 M4t A2 30,000,000 +1.08/100 324
O4anl Ssdato|gt Fol
60,000,000& *1.08/100 648
OsHEEZ(s2.2%) FHl
60,000,000 *1.08/100 648
Ol ALY 150,000 100,000 50,000
401 AIEHIZ R0 150,000 100,000 50,000
01 A&l 148,380 98,920 49,460
OIS HAS 148,380,000 148,380
03 A2 204l 1,620 1,080 540
OFQUEUAL 150,000,000 *1.08/100 1,620
HY2SZHI(AIHH)(JIEH/DIEH 23,980 24,490 A510
QI 2 10,800 10,800 0
eIz =2El 10,800 10,800 0
203 g =&H| 10,800 10,800 0
01 V22 ERFaHl 6,600 6,600 0
osd 6,600,000 6,600
04 EA2SEFFAH| 4,200 4,200 0
ORAN2IHRF4HI 4,200,000 4,200
=34 13,180 13,690 A510
Jl=&Hl 13,180 13,690 A510
201 LEH2HH| 10,180 10,690 A510
01 AtS2t2ibl 10,180 10,690 A510
Ogt==H| 10, 180,000& 10,180
202 Oddl 3,000 3,000 0
01 =LHOYI 3,000 3,000 0
o220 3,000,000& 3,000
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2AM: JIgH
HH: AMBETN 2 (LUBTHE =)

ool AMBHER 2 ECR-ED
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
g™ 669,810 621,480 48,330
UM EE SH (Y22 H /U A) 149,070 150,230 A 1,160
UNHH XA 2H 149,070 150,230 A 1,160

SclgtdE =2 2 54 A 78,090 78,090 0
301 et A= 78,090 78,090 0

05 -2l -&sEs8aa3 78,090 78,090 0
OO0l & 75,440
g4 200,000& x23H x12& 55,200
—&02 200, 000& 232 *200% 9,200
—3oE ALY 20,000 x23H x23| x12& 11,040
Ostd & 50,000& x53H 2,650

SHIAN 29 70,980 72,140 A 1,160
201 B3| 40,740 39,740 1,000
01 AtR22teldl 21,120 19,120 2,000

Odet=2H| 11,120,000& 11,120
oggsg 5,600,000 5,600
OZ &l 4,400,000 4,400
02 ss2494l 19,620 20,620 A 1,000
OZ2Z22SYLHA 10,920, 000& 10,920
O ZH| 700,000& 700
OAl& &HlI KX Bl 2,400,000& 2,400
OXbe eyl 5,600,000& 5,600
202 044l 30,240 32,400 AN2,160
02 XA b 30,240 32,400 N2,160
O MY 30,240,000& 30,240
AR XNENE(ZELX IS /XY 500,000 450,000 50,000

OIHOIAE &= 500,000 450,000 50,000

AXZME S AFE 50,000 50,000 0
401 AlEHIZE20UHI 50,000 50,000 0
01 Al&H| 49,460 49,460 0

O9xXE MES= ALY 49,460,000 49,460
03 Al =20HbI 540 540 0
OYXE MELE ALY 50,000,000 %1.08/100 540
A2 FO=3 At 300,000 300,000 0
401 AIEHIZ 20| 300,000 300,000 0
01 Al&H| 296,760 297,084 N324
OsJl 82 34| 19,784,000& 19,784
OZ2HH01(z4H) /X2 H| 19,784 ,000& 19,784
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JtalH
ARD XSWL(ZEUX SN /T HUEAI)
FOIHOAIL 2= (EERT
N BT (3H) - MEAIY - B2 A} OH &EIE Ho=2t
o= T ° . [= Bl e =5 O:H{ﬂ,% Lsa
OfXlEs &gz &l 19,784,000& 19,784
Os=2 s22% 19,784,000& 19,784
OUIl 82 Zl 19,784,000& 19,784
OMHREANE HE=> 49,460,000 49,460
O=EZHeads At 29,676,000& 29,676
OLAE SsdaI|e Zh| 59,352,000& 59,352
OsHEEZ(s2,2%) &bl 59,352,000& 59,352
03 Al 20HY| 3,240 2,916 324
o271 82 F| 20,000,000 *1.08/100 216
O2Ho1(Z4H) X7 Eil
20,000,000 *1.08/100 216
O=2Xl= &gz dHl 20,000,000 =1.08/100 216
Oos3 =s22% 20,000,000 *1.08/100 216
Ol 82 Fl 20,000,000& *1.08/100 216
OMLEAAE JHE= 50,000,000 *1.08/100 540
O==ZH&483 A 30,000,000 *1.08/100 324
Oarl st 4
60,000,000& *1.08/100 648
OsHEzz(=2,21%) &l
60,000,000 *1.08/100 648
QI E ALY 150,000 100,000 50,000
401 AIEHIZ 2 150,000 100,000 50,000
01 Al&HI 148,380 98,920 49,460
O=FoIgUAS 148,380, 000& 148,380
03 Al 2 0HY| 1,620 1,080 540
OFZUAY 150,000,000& *1.08/100 1,620
HHY2HGUI(OraH) (D1 EHOIIE 20,740 21,250 A510
ol 2HH| 9,600 9,600 0
olE2A| 9,600 9,600 0
203 L RF&Y| 9,600 9,600 0
01 J|22IHRF=&HI 6,600 6,600 0
osE 6,600,000 6,600
04 EA2IZRFEHI 3,000 3,000 0
OFRNSZIRFAH 3,000,000& 3,000
224l 11,140 11,650 A510
Jl22Z | 11,140 11,650 A510
201 LBt 8,140 8,650 A510
01 AFR 22l 8,140 8,650 A510
Oger=gH| 8,140,000& 8,140
202 Oidl 3,000 3,000 0
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A ItaH
M HY2FZHI(OL31®)(J1EH/IIE)
el J122

_ _ _ Muo
SN H - SR(EH) - NPAMY - BES 0fl &t o i
01 =W 3,000 3,000
O&2 (¢Hl 3,000,000& 3,000
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A HgH
By AMBNIN S (YD /LUHET)

ool AMBHTX 2Y ECR-ED
SA-EH O (BH) - HBAY - B2 gggf; HRS2
™ 663,210 615,700 47,510
UM EE SH (Y22 H /U A) 141,960 143,940 A 1,980
UNHH XA 2H 141,960 143,940 A 1,980

SclgtdE =2 2 54 A 57,960 57,960 0
301 et A= 57,960 57,960 0

05 -2l -&sEs8aa3 57,960 57,960 0
OO0l & 55,760
—Jl2s< 200,000& x17H x12& 40,800
—&02 200, 000& *17H *x200% 6,800
—3oE ALY 20,0003 x17H*23| x12& 8,160
Ostd & 50,000& *x44H 2,200
SHy 29 84,000 85,980 A 1,980
201 B3| 51,600 51,420 180
01 AtR22teldl 18,800 18,920 AN 120
Odet=2H| 8,500,000& 8,500
oggsg 5,600,000 5,600
OZ &l 4,700,000 4,700

02 ss2494l 32,800 32,500 300
OBZ222YLHA 14,300, 000& 14,300
OdzHl 1,000,000& 1,000
OAlI & &H| 2 Xl HI 3,500,000 3,500
OXbe eyl 14,000,000 14,000

202 044l 32,400 34,560 AN2,160

02 XA b 32,400 34,560 N2,160
O MY 32,400,000 32,400

AR XNENL(ZELXINL /XL AL 500,000 450,000 50,000

OIHOIAE &= 500,000 450,000 50,000

AXZME S AFE 50,000 50,000 0
401 AlEHIZE20UHI 50,000 50,000 0
01 Al&H| 49,460 49,460 0

O9xXE MES= ALY 49,460,000 49,460
03 Al =20HbI 540 540 0
OYXE MELE ALY 50,000,000 %1.08/100 540
A2 FO=3 At 300,000 300,000 0
401 AIEHIZ 20| 300,000 300,000 0
01 Al&H| 296,760 296,760 0
Oltezs s2ZL ¥ 19,784,000& 19,784
Osg A5t HH| 29,676,000 29,676
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A HgH
BE: AP XAN(REUN AL/ ML Al
SR FOEHYAIL &5 (¢t &
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
Odt2 s22& 24,730,000 24,730
OdlE s 24,730,000 24,730
OMMHKAEANE WE = 49,460,000 49,460
O=EZNELs At 29,676,000 29,676
OAaRR Az=sMat)|et | 59,352,000& 59,352
OsHEE2(s2,2l%) E| 59,352,000 59,352
03 AlA&R0HYI 3,240 3,240 0
Olte=2 s22xH 20,000,0002 %1.08/100 216
Osgr A5IE AU 30,000,000 %1.08/100 324
Odl2 sz & 25,000,000 %1.08/100 270
Odls s22& 25,000,000 %1.08/100 270
OMHAE AL JHEZL 50,000,000 %1.08/100 540
Os=sEdNEHES AFZY  30,000,000& *1.08/100 324
OAxRE S=Mat)|et FH|
60,000,000& *1.08/100 648
OsHEZ2Z(s2,21%) Jl
60,000,000 %1.08/100 648
0l g AL 150,000 100,000 50,000
401 AEHIZL 2] 150,000 100,000 50,000
01 Al&H| 148,380 98,920 49, 460
OFDIaALS 148,380,000& 148,380
03 AlAZ20HYI 1,620 1,080 540
OF0IgatAd 150,000,000& *1.08/100 1,620
HNMSHAAH| (CHEH) (JIEF/JIEH) 21,250 21,760 A510
ol 2A 9,600 9,600 0
ol 2| 9,600 9,600 0
203 R =&H| 9,600 9,600 0
01 D22 PR =AY 6,600 6,600 0
OHE 6,600,000& 6,600
04 EANSHERF=EH| 3,000 3,000 0
OFRANSHIER=RH| 3,000,000& 3,000
=4t 11,650 12,160 A510
Jlezdl 11,650 12,160 A510
201 dBt24 | 8,650 9,160 2510
01 At22telyl 8,650 9,160 A510
Odet2H| 8,650,000& 8,650
202 04l 3,000 3,000 0
01 2 3,000 3,000 0
O22 ¢l 3,000,000& 3,000
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SN SF
HE: YMUWIN SY(YNTDHT/ANHT)

ool AMBHER 2 ECR-ED
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
=M 682, 160 636,484 45,676
UM EE SH (Y22 H /U A) 161,420 164,724 N 3,304
UNHH XA 2H 161,420 164,724 N 3,304

SclgtdE =2 2 54 A 88,380 88,380 0
301 et A= 88,380 88,380 0

05 -2l -&sEs8aa3 88,380 88,380 0
OO0l & 85,280
g4 200,000& x26H x12& 62,400
—&02 200, 000& 262 *200% 10,400
—3oE ALY 20,000 x26H x23| x12& 12,480
Ostd & 50,000& x62H 3,100
SHIAN 29 73,040 76,344 N 3,304
201 B3| 42,800 41,784 1,016
01 AtR22teldl 23,800 20,244 3,556
Odet=2H| 13,800,000& 13,800
oggsg 5,600,000 5,600
OZ &l 4,400,000 4,400

02 ss2494l 19,000 21,540 N2,540
OZ2Z22SYLHA 12,000, 000& 12,000
OAI & &HI KX 8] 2,000,000& 2,000
OXteHey| 5,000,000& 5,000

202 (4 HI 30,240 34,560 N4,320

02 SHAHI 30,240 34,560 N4 ,320
OE MY 30,240,000 30,240

ARD XYWL (ZELXGNLY /XA LEZAl) 500,000 450,000 50,000

FOIHOIAL &= 500,000 450,000 50,000

AXZ2ME S AFE 50,000 50,000 0
401 AEHIZ 2] 50,000 50,000 0
01 Al&H| 49,460 49,460 0

O9xXZ2 MES= AE 49,460,000& 49,460
03 AlA&Z20HYI 540 540 0
OYXE MESE ALY 50,000,000 %1.08/100 540

A2 FO= ALY 300,000 300,000 0
401 AIEHIZ 20| 300,000 300,000 0
01 Al&HI 297,030 296,760 270

O&H ot i %t 29,676,000 29,676
ONE;N#+ s % 19,784,000& 19,784
O3 32=8H M| 10,000, 000& 10,000
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SN

2%

HE: AR
X0
=

el =03 S5 (etel: =3
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
O&=3=ss 28 £X 24,730,000& 24,730
Odll= =& &X 15,000,000& 15,000
OMHHEAE HES 49,460,000 49,460
OsEZ ML At 29,676,000 29,676
Oa72 =gt Fh 59,352,000& 59,352
OsHEZZ(s2,21%) F4l 59,352,000& 59,352
03 AIZSR0iH 2,970 3,240 A270
OF¥H ot =t 30,000,000 =1.08/100 324
o131+ s22% 20,000,000 *1.08/100 216
OeSss Y48 &%
25,000,000 *1.08/100 270
OMaiIZAIE 2=+ 50,000,000 *1.08/100 540
O=sE=Z M43 ArZ 30,000,000 «1.08/100 324
OARE sdad|et Fdl
60,000,000 *1.08/100 648
OsHEEZ=Z(s2,21%) Fdl
60,000,000 *1.08/100 648
oI E ALY 150,000 100,000 50,000
401 Al&HIZL=ROHYI 150,000 100,000 50,000
01 AlZHI 148,380 98,920 49,460
OIS HAS 148,380,000 148,380
03 AlZ=R0HHl 1,620 1,080 540
O S LAY 150,000,000% *1.08/100 1,620
HY2AZHI(EF=H)(JIEH/IIEH 20,740 21,760 A1,020
QI 2 9,600 9,600 0
eI 2| 9,600 9,600 0
203 HRF&Hl 9,600 9,600 0
01 JI22FLFF=LH 6,600 6,600 0
ogE 6,600,000& 6,600
04 RA2SERF=LH| 3,000 3,000 0
ORM2IYRF=LH 3,000,000& 3,000
Jl=2Z 4l 11,140 12,160 A 1,020
Jl=&d| 11,140 12,160 A 1,020
201 Zer=g&l 8,140 9, 160 A 1,020
01 AtR 22/t 8,140 9,160 1,020
Ogt==2H| 8,140,000& 8,140
202 O4dl 3,000 3,000 0
01 WY 3,000 3,000 0
OZ221 (8l 3,000,000& 3,000
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